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Ques # :1

Who is the author of the book 'Social Thought from Lore to Science' ?
1) Alex Inkels

2) Peter Berger

3) C. Wright Mills

4) Howard Becker

' I3 YTe HIA AR g W ' TEdSF & dG@F Pl ¢ ?
D) worera gepew

2) deT o

3) & g Ao

4) grarg Je

Ques # :2

' Sociology is the science of Institutions '
1) Maciver

2) Bogardus

3) Durkheim

4) Sorokin

' HHATSTATE €T3 T AT &' I8 et QR & 2
D) #ergax
2) gemgg

3)@?
4) ERifeReT

Ques # :3

An acephalous society is one in which -
1) Mambers have low intelligence

2) There is no formal head.

3) There is no political system

4) Anarchy prevails

AT A ag ¢, SaA

D) gewat 3 sifgerar =g=1 g1 &
2) a8 siterien @ T &

3) S T cTaEaT 7ET gl
1) IRTSTRAT <ITCd BT &

Ques # 4

Whose accepted the term culture refers to a ' Social Heritage' ?
1) Lisley White

2) Broom and Selznick

3) Hoebel
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4) Kinsley Davis

frae wEafar a1 Ao e ' FhaR g 2
D) orech egrge

2) 5 Td Yoot

3) afaer

) g sfaw

Ques # :5

Whose are not related with formal school of sociology ?
1) Georg Simmel

2) Toennies

3) Sorokin

4) C. Bougle

& ITT TATSTATE ] TaWITcAS [AaRYRT ¥ GFa a8 8 ?
D) St e
2) gteiret

4) . qarer

Ques # :6

Who has developed the concept of ""Binary - oppositions' is structural analysis ?
1) Merton

2) Parsons

3) Nadel

4) Levi Strauss

T F faearyor 3 ' gleX Aoy ' Y srquron fraa s $r 2
1) a8t

2) IRE=H

3 e

4) e g

Ques # 7

The opposite of Ethnocentrism is :
1) Cultural Relativism

2) Xenocentrism

3) Neo Centrism

4) Cultural imperialism

FoTfa hfegddr &1 faudia g 2
1) e aniears

2) fyger fegaar

3) g Fiegdar

4) FiEpias THTSIATG

Ques # :8
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Which of the following is not matched correctly ?
1) Reference Group - R.K. Merton
2) Human Group - Max Weber
3) Primary Group - C.H. Cooley
4) Out Group - W.G. Sumner

Fradasmar g e adi e
D) Heest woyg - 3R . A

2) FTeTa THE - HoFT IR

3) grerfaes wogg - & TE. Fo
4)@@3-55««. Si. §HR

Ques # :9

Match both the groups :

(a ) Ralph Linton (1) Atomistic Family

(b)) Zimmerman (2) Family of Ornientation

(c) Warner (3) Punaluan Family

(d) Morgan (4)Conjugal and Consanguine Family
1) a-1,b-2,c-3,d4

2) a-4,b-1,c-2,d-3

3) a-3,b-2,c4,d-1

4) a-2,b-3,c-1,d-4

calell HHgT T A &Y :
(a)Iew Towed (1) =ATTES IREAR

(b) fSada (2) 9Id 9TER
(c)am (3) TeATel3ts TRAR
(d) A= (4){darg 9 2 GFeedl i@

1) a-1,b-2,¢-3,d-4
2) a-4 ,b-1,c-2,d-3
3) a-3,b-2,c-4,d-1
4) a-2,b-3,c-1,d-4

Ques # :10

Levirate is a -

1) Form of caste interaction

2) Form of contractual relationship
3) System of Marriage

4) Type of religious ritual

ddRe? -

D) ves ger Y ST 3o foma
2) Ueh Yo T HIAGTcH FFaed]
3) faarg &y

%) Ueh YR T MfHE IHeTSoTeT

Ques # :11

Who has written the book " The Future of Marriage" ?
1) Jessie Bernard
2) G.P. Murdock
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3) C.H. Cooley
4) H.M. Johnson

" The Future of Marriage" sTTH® J¥ds frae fodt g 2
D) orer siTs

2) S, o, TR

3) &Y. v el

4) vg. vH. St

Ques # :12

Which one of the following is not included in Auguste Comete's three stages of social evolution ?
1) Theological

2) Metaphysical

3) Industrial

4) Positive

3TEA Bl F WA 3gfAra & et ot 7 fAeifera & & Fiaar anfAa a8 8 2
D gaemed

2) sifeiifas

3) ez

4) ycgeTare

Ques # :13

Which of the following is not types of society described by Mike O' Donnall ?
1) Traditional

2) Modern

3) Industrial

4) Post Modern

i@ & ¥ Fi9 A THTS F THR F1 Ica T ATSF A AT o A81 fFATE 2
D R

2) smegfers

3) s

4) 3ea 3y

Ques # :14

Three paths to a definition of sociology described by Alex Inkels does not include -
1) The Critical Path

2) The historical path

3) the analytical path

4) The empirical path

HATSTATES HT TRIATIT T TAFH Shed @RI faafaa et gat F aiFafaa adie 2
D) srreirastiers 9o

2) ufaeTfaes gy

3) faeeIvoTTcHs® g2

4) arreperfaes oy
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Ques # :15

Auguste Comte's book " Positive Polity" is -
1) 2 Volume
2) 4 Volume
3) 5 Volume
4) 6 Volume

T Pl Y GEdw " difarfed Difad " # g -
Dows
2) 4@z
3) 5@z
1) 6ws

Ques # :16

" A community is total organization of social life" is the statement given by ?
1) Ogburn and Nimkoff

2) Kimball Young

3) Kingsley Davis

4) Maclver and Page

' GASTT WA SHiaet & FFOT ST HTATH ¢ ' I8 FUA &ATS 2
D) 3iforeet g RHA®

2) fopFaITeT T

3) fheger 3faw

) AR U

Ques # :17

Who has written the book " Contemporary India and its Modernisation" ?
1) O.M. Lynch

2) Andre Beteille

3) S.C. Dube

4) Y. Singh

" FeeruR) $T3AT U 3T AlsARPAT " gedw fFaa fadi g 2
D 3 o R

2) 3 g

3 va. d@r g

4) ars. e

Ques # :18

Acceptance of cultural goals and rejection of institutional means is called ?
1) conformity

2) Innovations

3) Rebellion

4) Ritualism

AEHTae dadl FY FAIHR FIAT Td HEATTT AT F FEAHR a1 B Aeafaf@a & & a1 Far
ST e ?
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1) 3rogacar
2) AT
3) fgie
) FEpear

Ques # :19

Which is not the basic element of culture ?
1) Symbols

2) Values

3) Relationship

4) Norms

FISTHT 3GEROT HEF o FT HTUR dAed a1 © 2
D) g%

2) e

3) gy

4) AT

Ques # :20

In which Book Karl Mannheim given the concept of Direct and Indirect control ?
1) Ideology and Utopia

2) Man and society

3) Diagnosis of our time

4) None of these

YeaaT 3R It fArror i raerRom Frel Adfe# 7 Jrasit g gxas J & 2
D) amsfeirersit wos Feifor

2) #<7 vos WARE

3) SrrEeIfa 3T 3R s

Y g & S e

Ques # :21

Classificatory and descriptive terminology in Kinship is given by ?
1) Majumdar

2) Morgan

3) Murdock

4) Tylor

ATdeHY & FaTcAF  JUITcHS FATT AT § ?
D Ager =

2) AfdeT o

3) ISt

1) TR A

Ques # :22

Who explain the direct and indirect co-operation ?
1) Green
2) Leslie
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3) Maciver and Page
4) Gillin and Gillin

UcgaT T 9cTaT HgA9T Y cIredT fFaa A g 2
l)m‘—rr

2) el

3) APEaR T IS

4) farfere 3k @ifes

Ques # :23

The Jajmani system of rural India was basically -

1) Exchange of services

2) Inter-caste relationship

3) Both Exchange of services and Inter-caste relationship
4) None of these

TTHIOT AR Y STSTATT TG iy Temer T F oY -

1) Jar3tr &1 3mer et

2) AT Feawt

3) QaT3Y T ST TeTel & STl FEaeer alel
4) goTor q IS TG

Ques # :24

The most essential characteristic of Indian caste system is ?
1) its endogamous nature

2) its occuapationwise division

3) restrictions on interpersonal

4) the idea of divine origin

RN AT cqawyT FT W AT wayor g 2
D) sger siafdardy vepfa

2) 36! TATHTITER fasTrsTet

3) siadanfeas FFa-e I gfaswer

4) ¥fae 3cufed & famr

Ques # :25

Who is the author of ' First Principles ' ?
1) Durkheim

2) Spencer

3) Auguste Comte

4) Hegel

" 6Ee RARATeH " TIHF qEaF F AGF Pl g 2
l)ggﬂgq

2) T

3) 3rred #a

4) Srarer
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Ques # :26

' Sociology is the science of society or of social phenomena. ', Whose view is this ?
1) Lester F. Ward

2) Durkheim

3) Peter Berger

4) Maciver and Page

" FHTSTRTET HHTST HT AT AHTSTS g3t FTRATE ", I8 fraar AR §
D) et u. arg

2)@;;[

3) drex TR

4) HeprgaR T O

Ques # :27

When a girl of the higher caste is married to a boy of the lower caste , the system is known as :
1) Couvade

2) Anuloma

3) Pratiloma

4) Sororate

9 3T AT Y A5 FT AFT 13 F a3% & Rag aiar g, Reafaf@a & & g sggear w2
HEATAT § ?

D) @ gafaar

2) 3fegeir

3) yfaete

4) grelY ShreT faarg

Ques # :28

Who said that , " Social control is an extension of the socialization process. "
1) J. H. Fichter

2) Horton and Hunt

3) Parsons

4) E.A. Ross

I8 T U § Y, " GeiorE RGAoT FATSIS0T Y 9fFaT FT R g
D) 3 .wa. fherex

DeAage

3) aRET"

D g

Ques # :29

According to Durkheim , which of the following is an index of organic solidarity ?
1) Restitutive Law

2) Repressive Law

3) Homogeneity

4) Collective Conscience

qdliar ¥ IR faafaf@a & & gead trar FT Rl AT gEF § 2

1) v{:_l,?-‘II{I('Hq'? hlaid
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2) cAAFIY hlele]
3) gATET
4) TR A

Ques # :30

Who has given concept of "' Cultural Reproduction " ?
1) Merton

2) Parsons

3) Giddens

4) P. Bourdieu

' FiEHTaE qAScdTee ' Y FaURON fFaa gfaarfed #r 2
D) wréy

2) e

3) ffsea

Y dr. aRsg

Ques # :31

Cultural lag means ?

1) Lag between cultures of two societies

2) lag between material culture and non material culture
3) Lag between past and present cultures

4) Lag between western and eastern cultures

wiEpfas fAaeea &1 3 § 2

1) g TSt i S b Frea o

2) sitfers 31k arsilfercs Heapel b #ea Rrerssen
3) 7 3R T TESf & AL faarwe
4) afegs ik qdfarsiaat & Ao faawe

Ques # :32

Which one of the following is not an example of ascribed status ?
1) Status as a Brahman

2) Status as a Doctor

3) Status as a Doctor's Son

4) Status as a Son

verd yieyfa &1 fAeiferd § & wia a1 3cgrRoragi ¢ 2
D) v sreAwT & w9 F gieufy

2) ueh S & ¥ H grEAfa

3) e Stare & I & w9 H wfeafa

4) v g7 & 9 afeufy

Ques # :33

Which one of the following statement is correct ?
1) Social change and cultural change are the same .
2) An example of cultural change is also essentially an example of social change
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3) Social change and cultural change are opposite
4) Social change is a part of cultural change

fifFa A ¥ Fla araraea g ¥ 2

1) granfores 30 S SReder e &) Dot d |

2) greiore 3R Aig o TRads & R UE g # faege FadT ¢ |
S S e R B

) e AR, TR TR 7 O AT |

Ques # :34

Which one of the following statement is correct ?

1) Social norms are universal

2) Social norms are situational

3) All the social norms are equally important for society
4) Social norms are more or less static

fAifFa A A T aTaFaeT G ¢ 2

D) gt Arete ardsifas &

2) graTfore Ateteh qIRTEAfae &

3) weh TATST 3 T ATATSIS FleTeh U TTHATT ¥ & FAgea ol §
4) AT AT STITHaT ATIEA &

Ques # :35

Role conflict means ?

1) Conflict between two persons playing different roles
2) Roles which necessarily lead to conflict

3) To play two inconsistent roles simultaneously

4) Conflict between two generations

AT EES FTITE 2

D) fafarest sttt o vl et oY cafdrast & wea wad
2) syforerret ot srforaTier e Y 3R A

3) &Y FreTer S{fAh3iT b Ueh WY foialTg ahdel U3

4) ar fért & Hew guy

Ques # :36

Who has propounded the concept of ' Technological Lag ' ?
1) Ogburn

2) Maciver and Page

3) Tylor

4) Lewis

* ST FreiareT * Y SrerROT Y et aferaTfr R ¥ 2
D 3iforeet

2) HpTgaR UF O

3) erreR

4) afrg
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Ques # :37

Juvenile justice Act 1986 was implemented on :
1) 2 October 1986

2) 14 November 1986

3) 2 October 1987

4) 14 November 1987

el AT A TAfAAA 1986 Fef AT 3T 2
1) 2 3rerea 1986
2) 14 FGFST 1986
3) 2 37eFCER 1987
4) 14 FaFaT 1987

Ques # :38

How many classes of residues Pareto had identified ?
1) Four

2) Five

3) Six

4) eight

qlel oF ANt & fhda gait A ggarT Hr g 2
D) ar

2) gir

3) S

4 31

Ques # :39

Authority denotes :

1) arbitrary authority

2) legitimate authority

3) dominance over others
4) power over others

AcaTHTHT -
D) s=omeier gear
2) &er gear

3) ZERY 9 3T
4) gery o¥ fed

Ques # :40

Which mechanism of social control is not explain by Parsons ?
1) Direct Mechanism

2) Positive Mechanism

3) Therapeutic Mechanism

4) Negative Mechanism

FrATTSr fora=or i Hladt IfFa TREH @RI At Tag TP 2
1) geret fmanfafer
2)
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TAIhRIcHS fohaTiafer
3) Rifrcarcrs fhanfafer
4) fSereRs fpafafe

Ques # 41

Who defined social action in terms of the subjective meaning of the actor ?
1) Durkheim

2) Max Weber

3) V. Pareto

4) T. Parsons

ATATTOE 3R AT FY FaT & AfFaITF 3ret & &7 7 fraar afenRa fFard 2
I)E}QTJ-T

2) Farg A

3) &Y. grer

1) &, IRE=E

Ques # 42

Which of the following statement is wrong ?

1) Community is a specie of society.

2) Community is concrete but society is abstract

3) Community involves both likeness and difference
4) Community is situated in definite locality.

Arafafaa # @ Sl aT vy 3w & 2
1) HHCTT HHATS T Ueh Th &

2) FAETT A ¢ Aifshel HATST 309 &

3) FAETT F AT T4 R &l a1l &
4) geer v fAfRad T R R grar g

Ques # :43

For Weber, capitalism did not arise in India because -
1) Indians are lazy.

2) There was diversity of religions.

3) Hinduism emphasizes other worldly rewards.

4) Technology was not available.

qa & IHTAR YollaTg R F el Tad HahT F41 1o -
D) et smmerir &

2) o # erAf i RAffeeTar &

3) feeg et o meores [RERRT IR fay gef fe=m
4) Sirez TRy Socretr Tt off

Ques # :44
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Match the following :
(1) The Hindu Widow remarriage Act (a) 1954

(1) The Hindu Marriage Act (b) 1829
(I11) Special Marriage Act (c) 1856
(IV) Sati Prevention Act (d) 1955

1) Ib,I-a,lld, IV-c
2)  Ia,Ilb,IId, IV-c
3)  I-a,Il-b,Illc, IV-d
4)  l-c,ll-d,Il-a, IV-b

Arafefaa &1 Fea fifed

(1) Bwg_ fawar gafdarg sfafaas (a) 1954
() eeg_Taare sfafas ( b) 1829
() fafase faag AT ( c) 1856
(

(IV) et Tatrerss sfefas d) 1955
1) Ib,Il-a,lll-d, IV-c
2)  I-a,ll-b, I, IV-c
3) I, ll-b, ll-c, IV-d
4)  I-c,lII-d,Il-a, IV-b

Ques # :45

Which one of the following be a factor of social change ?
1) Ideology

2) Population

3) Technology

4) Human Instincts

T & ¥ FiTH1 U FRE FHATSIF IRAAT HT 7T &) Tohal ?
D) ferameem

2) ST

3) genfarhr

4 sA1eTar Fer ferat

Ques # :46

Which of the following is not the basis of ascribed status ?
1) Caste Membership

2) Class Membership

3) Kinship

4) Race Membership

fArafaf@a # ¥ Flaar yecd TRUfY 3R g & 2
D) snfa geegan

2) get HeEgan

3) Arerdy

) ganfa eEgan

Ques # :47

Which of the following theories describes the Marxian interpretation of profit ?
1) Theory of value

2) Theory of Wages

3) Theory of Surplus Value
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4) All of these

fv=ifra & & S99 Rigia 7 F Aradard R ff sarear s d 2
D) sewr =1 Rigia

2) FroTedy 31 Rigid

3) sifafkara Aea =1 faeid

) gty I Tl

Ques # :48

The Hindu Marriage act does not allow marriage on the father's side within :
1) Three generations

2) Four generations

3) Five generations

4) Six generations

foeg Rrame srfarferer Riar gar & sitt Ryarg i sregafa i &a -
D) dher et
2) g ffeat &
3) gt difeat
4) . difeat 7

Ques # :49

Which of the following is not correctly matched ?
1) Role Making - Turner

2) Role Taking - Mead

3) Role set - Merton

4) Role distance - Sorokin

PR dIslr o oA grafRaadit 2
1) sifaver foaior - ook

2) 1Rt 0T - g

3) s1fen gt - e

4) syfvenr o - TRt

Ques # :50

Which one of the following is not an example of primary group ?
1) family

2) Peer Group

3) Caste Association

4) Neighbourhood

frrafaf@a & o @ wiaar yrufae w9 #1 3qgror 781 § 2
D gfar

2) {7 A

3) el wfafa

4) g2l

Ques # :51
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To whom is the definition of Association attributed ? " Association is working together of people to achieve
some purpose. "

1) Bogardus
2) Fairchild
3) Ginsberg
4) Gisbert

wfRfa At emfdha aRemar fFadhr § 2  fReY 3227 Y witT & AT e & At 1 F3a 1
afafawga g

D) srmés

2) %haSes

3) foreeadt

1) e

Ques # :52

Which of the following criteria was not used by Durkheim for defining a social fact ?
1) Externality

2) Values

3) Constraints

4) Generality

frfafad # & g@ifa & arnfore aea A aRemT F3d ge e Fat F1 g3 a8 fFarg 2
D) sregar

2 g

3) zara

4) grETgar

Ques # :53

Which of the following is an example of family of orientation ?
1) In which one is born

2) In which one is married

3) In which one is adopted

4) In which one desires to be admitted

foreer & & qaEH Ao IRER FT 3EEROT R ?
U%m?fram'g:%ﬂ%

2)ﬁﬂﬁﬁaﬁ§3€r%

3) forgs aie form aran

1) T g# eEIdT Ul aigar g

Ques # :54

The type of suicide that increases in economic crisis is -
1) Anomic

2) Egoistic

3) Altrustic

4) professional

fAF TFe F AT T HHATAT F ISR FI Fed & -
D) sreamanfas
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2) srgardy
3) qerefaréy
4) eggare

Ques # :55

Who has coined the term Quasi group ?
1) Maciver

2) Ogburn

3) Hyman

4) Ginsberg

31E geTl WoE IeId free afaufea war @ 2
1) et

2) 3fferaet

3) grswet

) et

Ques # :56

The statuses like husband - wife and Doctor-patient can be called ?
1) Perceived Status

2) Polar Status

3) Status Set

4) Paired Status

Ifa-9ci) Ua Siere-Ader S s faat A FgrT aHar g 2

Ques # :57

When a Kin is referred to indirectly through another kin , the system is known as
1) Avunculate

2) Teknonymy

3) Amitate

4) Couvade

o« T RedeR weT 70 @ gEt Reder # geafea 3ar ¢ o) 30 sqaear S FeT AT g ?
D) A1 gy

2) JfTHATT Feaee

3) Rrgraar Traey

4) g

Ques # :58

Among which tribe ' the bow and arrow ' presentation ceremony is followed to determine fatherhood of the
child ?

1) Toda

2) Kadar
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3) Andaman Islanders
4) Nuers

A & I fFa Seronfa & 3c0a & 3au W ' dR 3R FATE ' ot 9T g T T 9 w1 30HR
fruifa raramard 2

1) &Yar

2) Fret

3) 35T ed1T THE & AT

Y e

Ques # :59

according to Durkheim, mechanical solidarity can exist -
1) Only in simple society

2) only in complex society

3) In both simple and complex society

4) None of these

galie & ITUR AT ThaT 91$ ST HFA © ?
D) Shaer ool gaATST

2) Shrael STfeer FHTST &

3) g3eT U S At & AT 7

Y g A S T

Ques # :60

Which one of the following arguments Durkheim has emphasized in his book ' The Division of labour in
Society' ?

1) Division of labour is a disintegrative process

2) Division of labour as an integrative process

3) Division of labour is a productive process

4) Increasing division of labour is harmful

getar o 3rvelt g ' g BT 3w e 57 W ' 7 e T wad Rard 2
D) 31 TSI Ueh 3T ATFIATCHE IThaT &

2) 5 TSI Uk HHIFIATCHSE ITRATE

3) y T8Il Ueh 3cuTeeh UishaT &

%) 5137 TAHTST T TGAT TATST o FAIT THAAGTIF &

Ques # :61

" Communist Manifesto " responsible for several revolutions was published in the year :
1) 1836 A.D.
2) 1846 A.D.
3) 1848 A.D.
4) 1867 A.D.

" Frgfae At " S I FifA F fAT seaver § yara gam -
D) 18368 &
2) 1846 8. &

3) 1848 &
4)
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1867 5. &

Ques # :62

The book " The Third Wave " is authored by :
1) Dunbaugh

2) N.J. Smelser

3) H.G. Wells

4) Alvin Toftler

"G Y AT " TEAFH F AGFH ¢ ?
D) gerete

2) Ue. . THRR

3) wr. St ge

4) ufeae eThieR

Ques # :63

Simmel's classification of group is based on ?
1) Social relations

2) Nature of relations

3) Size

4) Nature of membership

fAe & worg & Feffeor w1 3maR B 2
D) granfores geewer

2) gFawu & yepfar

3) 3R

4) e H g

Ques # :64

Which of the following illustrates the social structure of the ancient Hindu society ?
1) Religious Tolerance

2) Non violence

3) Belief in incarnation

4) Varn ashram Dhram

frafaf@a F sl e feeg gorrer 1 Ao av=e i sarear Fxar g 2
D) enfier afgsogar

2) sifgan

3) 3rqart # faeard

4) quirsre eret

Ques # :65

Who said " Society is Sui generis " ?
1) Maciver

2) Bogardus

3) E. Durkheim

4) Karl Max
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et #gT, " WA T FHAE " ?
D #eeaw
2) Srmsg

3) . guita
1) et Heg

Ques # :66

" Hippies " are an example of :
1) Contra Culture

2) Sub Culture

3) Culture Pattern

4) Society

" RRoTAY " FY IecgRUT AT # H12
D) gfar st

2) 39 HEpia

3) arepfae afasre

4) g

Ques # :67

The term " Uncle " is a :
1) Classificatory term

2) Contradictory term

3) Descriptive term

4) Narrow term

" Hpel " ?M%W:
D) qafieres g

2) faremmsaTsT E=T
3) fafRreeTers |+
4) wefaa war

Ques # :68

Which of the following is not the rising factor of casteism ?
1) Marriage restrictions

2) Decline of Jajmani system

3) Westernization

4) Sanskritization

fArfafaa & ¥ sfaae #) Tg[ar & areT FRE T AT AL & 2
D) ganfees wfaaser

2) STSTHATAT STTEUT T Tl

3) gfersentor

4) FEpfaetor

Ques # :69

In which of the following books M.N. Srinivas first used the term sanskritization ?
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1) Caste in Modern India

2) Religion and society among the coorgs
3) The Remembered Village

4) Social change in Modern India

fasetifra qraet & & frw & va, var. AMfaarw F aepfasior aree 1 yua g3 frar or 2
1) spree 51 AvseT f3am

2) RISt TS BIATSE HHT & Fod

3) g RAFaE ot

4) gYerer IS g7 Al f2ar

Ques # :70

What kind of group Gotra is ?
1) Exogamous

2) Endogamous

3) Cultural

4) Racial

ity R YR & HAE FT 3GEROTE ?
D) afgféarér

2) sfafdardr

3) FiegH o

4) gareir

Ques # :71

Which of the following is a victimless crime ?
1) Extremist Act

2) Murder

3) Prostitution

4) Rape

At f@d & & wlaar scdisa R e g 2
D) sarér aifafafer

2) gear

) deagfa

) FATHR

Ques # :72

The abuses given by the bowler to the umpire in a cricket match for not giving the player out is :
1) Rational action with reference to goal

2) affective action

3) Rational action with reference to value

4) Traditional action

frdhe 3 # IR ZART TeaaTe FY A3 7 AN W AgaTsT I HIIT W G YTER FIATE ?
1) féhen foram ofer & Geedy &

2) straTcHeh foha

3) e foha HoT & TFaeu A

4) reafe
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Ques # :73

Marriage between cross cousins is permitted in
1) Eastern India

2) Western India

3) Northern India

4) Southern India

RyafNT Tl F fio e Fera=a 8 ?
1) ot T

2) qiges 7R

3) Ieadr TR

4) efEyor TR

Ques # :74

Which of the following is not an agency of socialization ?
1) School

2) Youth Dormitory

3) army

4) Family

faraifhd & & AATSNFHIOT FT HFAFOT AT & 2
D faezrer

%) gamE

3) e

4) afEr

Ques # :75

Who said , " Status is institutionalized role." ?
1) Ralph Linton

2) Kingsley Davis

3) Robert Bierstedt

4) Robert K Merton

1) o foleet

2) fhoger Sfa 4
3) Qeé IREdrs
4 qeE &, 7wES

Ques # :76

How many countries included in Durkheim's study of suicide ?
1) 9 countries

2) 10 countries

3) 11 countries

4) 12 countries

@i & 3mergear seaa A fraa qu wirafaa § 2
D o &ar
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2) 10 &er
3) 11 &er
D 12 &er

Ques # :77

Which one of is not a types of conjunctive process ?
1) Co-operation

2) Competition

3) Accommodation

4) Assimilation

FITHT TS IFFAT HT IFR T & 2
D) @i

2) gianfarar

3) gAY

4) sferaTeRoT

Ques # :78

" Culture is man-made part of environment. " , is the statement given by
1) Herskovits

2) Tylor

3) Hoebal

4) None of these

" FEHT TATIROT T AleTa AfHT aTer g ', I8 FYT feq 8 2
D gd=nifaca

Ques # :79

Who said " Association denotes membership institution denotes a mode or means of service. "
1) Fairchild

2) Bogardus

3) Gisbert

4) None of these

fhas FeT, " aRfa Fergar T A e arr dar A R e A sPasd g |
1) haarses

2) SwmgE

3) foresie

4) 3o A IS AET

Ques # :80

The year 1961 in India is famous for passing an act for:
1) Banning Female Foeticide
2) Prevention of domestic violence
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3) Prohibition of Dowry
4) Stopping of child marriage

T & 1961 ma&wﬁvqﬁa%ﬁswa&#wmﬁwm?ﬂm,ﬁmﬂmm
D) s sqorgear fwerear

2) ey T B Qehera &

3 g favu g

1) Sro-RaE H A T

Ques # :81

Delhi University , New Delhi is an example of which of the concept given below:
1) Achieved Status

2) Ascriptive Status

3) Station

4) Office

feeh Rreafagzmeay, 7 fiedl & gaT R &1 rftrsorar Afaf@a # @ fFa saamon &1
3EERUTR ?

D sifsia wieufa

2) yeca wieufa

3) geere

%) agregear

Ques # :82

Which one of the following article in the constitution of India related only to the scheduled tribes ?
1) Article 244
2) Article 330
3) Article 332
4) Article 335

Rreafaflre # & Sl a1 7ot ST & TR & et ool @ a2
D) 3reqede 244
2) 3T 330
3) 31TeRE 332
Y sregese 335

Ques # :83

Who has argued that, " Science is science, whether in Physics or Sociology. "
1) Karl Pearson

2) PH. Landis

3) George A. Lundberg

4) P.V. Young

fraa FETE &Y, " e, R i ¢ o g wifdF e A gy ar aAsIET A
D) srel 3R

2) dy.v=. Afvsg

3) Sifet ©. Fusae

4) o, &1 T
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Ques # :84

Which article of Indian constitution provides right to freedom of religion ?
1) Article 19
2) Article 23
3) Article 25
4) Article 29

R TR #1 Flaan 3rgedg anfiF Fadadr #1 3 0FR va= Far g ?
D sreede 19
2) 3eTesE 23
3) 3170 25
Y srgese 29

Ques # :85

Pareto's theory of circulation of elites is an example of -
1) Social change

2) Social Control

3) Social stratification

4) Socialization

UREY T ARSI T TEAIOT T G 3SERUTE ?
D) granfores aRadsr &t

2) granfore fer=or &

3) FTATToTeR TALTERIOT 1

4) FATNHOT &l

Ques # :86

Which one of the following is the basis concern of the Article 17 of the Indian constitution ?
1) Representation of backward classes

2) Political representation to scheduled castes

3) Abolition of untouchablity

4) Reservation of posts for scheduled castes

R & WU 1 317e0g 17 Mfaf@a & #oa: e d wrafa d
D Ros guit @ gfafafc

2) srergore snferah 3 fore Trsteifeies Sated

3) 3TETRIAT T SeAeIA

4) srerafad sfaat & fore gel & 3mator

Ques # :87

The factor which does not count in globalization is :
1) World Trade Organization

2) Competition

3) World Economic Forum

4) Westernization

drellEToT 7 Y FRF AGccaqUT AT ¢, 6 &

1) g g9 Teres
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2) yfaeaef
3) faeg e A
4) giRaseoT

Ques # :88

Who wrote " India's Villages " ?
1) S.C. Dube

2) M.N. Shrinivas

3) T.K. Oomen

4) Iravati Karve

vERTT RAT " FAEF RIAE?
Dua. dnge

2) uA. T, Niard

3 & F. FHA

) srad s

Ques # :89

Which article of the constitution deals with the appointment of a minister in-charge of tribal welfare ?
1) Article 163
2) Article 164
3) Article 165
4) Article 166

wiee i Hlet e anfaa Feamr 7N Hf FglFa & gFafa ¥ 2
D emr 163
2) T 164
3) & 165
4) &R 166

Ques # :90

Which of the following factor is not a hindrance in national integration ?
1) Casteism

2) Urbanism

3) Regionalism

4) Communalism

fAFafaf@a # & wlq 91 FRE T vhaRor F aren A § 2
D) Sifqare

2) Aar{rgare

3) grare

4) gryerare

Ques # 91

According to the Census 2011, which of the following states/U. T. has the highest percentage of scheduled tribe
population as part of its total population ?

1) Lakshadweep
2) Mizoram
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3) Nagaland
4) Meghalaya

SATATOTAT 2011 F UK farafaf@a & @ Fw vsw/Feana f sodear 7 sreqqfaa seenfa #r
SHEaT F1 vfaerd AftFaa § 2

D) warega

2) ASRA

3) Ars

1) Agrer

Ques # :92

" Social control explanation " of child abuse is given by :
1) Albion Small

2) Parsons

3) Becker

4) Gelles

STel GEAaER $ " ATATOIS forg=o7 carear " &Y :
D) ofeqara

2) qRE=E

3 g

4 drema

Ques # :93

Which article of the constitution deals with specifying a particular tribe as a scheduled tribe ?
1) Article 342
2) Article 343
3) Article 344
4) Article 345

Wi A R R 1 Tt St F IR Fonta H e ¥ weia § o
D emr 342
2) &R 343
3) eRT 344
4) &R 345

Ques # :94

The term " consciousness of kind " is coined by ?
1) Johnson

2) F. Giddings

3) Marcel Mauss

4) George Homan

" FFATT AT ' Y AR FFa ¥ 2
D) Sferae

2) uw, fAifgasr

3) AR AT

) Sifet gl
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Ques # :95

A Kibbutzin is :

1) A tribal dance

2) Group of families

3) Garo term for extended family
4) A religious sect of Mexico

D s Sterareiar e

2) aRart &1 a7

3) fawea aRar & forw " aIRY "ereg
4) AT &7 T fdier 9U

Ques # :96

The book " Caste in India" is written by ?
1) G.S. Ghurye

2) A.R. Desai

3) J.H. Hutton

4) M.N. Srinivas

" FTEC F 33T " TFAF & AGF ¢ :
D 3. var. g

2) U 3R, &ETS

3) 3. v, gee

1) wH. . N

Ques # :97

" National Girls child day " is celebrated on which day ?
1) 24 January

2) 12 February

3) 08 March

4) 04 September

" IS arferent feaw " e et AsraT ST @ 2
D) 24 Serady

2) 12 weadr

3) 08 AT

4) 04 FAaFR

Ques # :98

Proletarianization refers to :

1) Class consciousness among workers
2) Revolutions of working class

3) Growing number of wage labourers
4) Competition between capitalists

HAGRIRIOT FTHA & 2
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1) srorgg #f et At
2) FroTey g9 T hifar
3) daeT AT AP Y e FEAT
) it sfeveaef

Ques # :99

When Central Social Welfare Board for women, children and physically different group was constituted ?
1) August 1953

2) September 1957

3) August 1955

4) September 1958

Afgeat, oAt va e T8 F e ToE) & fv S gaATer Foamor NS H TATIAT F9 A 12
g2

1) 3rrEe 1953

2) fRaesT 1957

3) 3rTEd 1955

) fAaFe 1958

Ques # :100

The book ' The coming crisis of Western sociology ' is written by :
1) Raymond Aron

2) Peter Berger

3) Allport

4) A.W. Gouldner

" & HIAT FISTAT T dFeet WIFATATSAT A7 TEah s 2
D it ot

2) dyeT o

3) 3reraie

4) u. See<. dlesaly

Ques # :101

Who has written the book , ' The death of the family' ?
1) E. leach

2) D, Cooper

3) W.J. Goode

4) G.P. Murdock

" & 39 3T & BIAN " graw fraa fadt g 2

Ques # :102
Who explained sociology as a craft ?
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1) Nisbet
2) Sorokin
3) Mills
4) Simmel

FATSTAEH FT AT & T F fFast sgrear frg 2
D faesa

2) gryfanet

3) Freg

) R

Ques # :103

Which one is not contemporary social problems in India ?
1) Communalism

2) Casteism

3) Regionalism

4) Democraticism

o & O il I1 ARANT FATS F AT FASBTNT FATGS GATATAL §
D) grgerar

2) anfaare

3) grare

4) yelldeaare

Ques # :104

According to Harry Johnson, the four elements of society are (i) Deﬁmte Territory (ii) Sexual Reproduction
(iii) Emprehensive Culture and (iv)

1) Population

2) Physical Identity
3) Social Institution
4) Independence

o T8 & HTHR WATS & IR deead ¢ (i) AR &7 (i) T (i) FFOT TP T4 (iv)
9

D seefen
2) e ggae
3)  grafore dear
4 TgdFar

Ques # :105

Which is not the characteristic of social institution ?
1) Active Membership

2) System of activities

3) Normative System

4) Goals

isT A favar g gEAT A g g 2
D) g geegar

2) Rra3tt Fr caaeT
3)
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Hladon cd&d]
4) 3227

Ques # :106

Who has argued that the primary groups are the ' Nursaries of Human Nature' ?
1) Sumner

2) Bogardus

3) Cooley

4) Maciver and Page

YA WG Y ' AT TIAHTT Y TRATRFTC ' 7w Fa18 2
D qae

2) demsH

3) gl

) HAprEaR T I

Ques # :107

Membership and set goals are essential elements of the concept of :
1) Community

2) Association

3) Institution

4) Structure

WEEIdT Ue TR oa foF e 3raeRon & 3ifar 3maegs aeca & 2
) gagera

2) gfafa

3) g

4) FTae

Ques # :108

Who has argued that, " Sociology has a long past but only a short history. " ?
1) Bottomare

2) Spencer

3) Marx

4) Bier Stedt

foraar FET e T, " THTSTATTT FT Teh 4T A dId @7 ¢ dAfheT sfagra FThr oerg " 2
D stear

2) EeE

3) myrerey

RATE IR

Ques # :109

Who has given, " With the father on a night shift and mother on a day shift or both on day or night shifts,
children were often on the street shift. "

1) Jones
2) New meyer
3) Cyril Burt

30/42



24/06/2016 College Lecturer Exam - Sociology-|
4) M.J. Sethna

P AFgTe, " FT AT TT A FH A IR AT RAF srgargAi T I RA A FEEAFA T A
T U AT H & FH A g RAA R 2

D) steg

2) AR

3) ARe s

DA I QST

Ques # :110

" The Kingdom of heaven is a glorified society. " who has said this ?
1) Durkheim

2) Frazer

3) Dube

4) Tylor

" TG T WHY Uh ATGAT AT AT & ", I8 vt Fg1e 2
1) quffar

2) hoX

3) g

4) TRIeR

Ques # :111

Who has defined " corruption is a willful failure to perform a specified duty in order to receive some direct or
indirect personal gains . "

1) Robert C. Brooks
2) Elliot and Merrill
3) Fair Child
4) Sutherland

forwar afenf¥a fRan @, " wearat sryar srveget wimer Wit & AreTagra] AR Hicded &1 arere o
AT §1 TSTTAR & " 2

D Q¢ . g

2) sfore g afer

3) heRaTges

4) Fezaivg

Ques # :112

Who has given the statement , Caste is a ' Cancer of Politics' ?
1) D.R. Gadgill

2) Rudolph

3) Abraham Lincoln

4) Panikar

Sifar Y ' Trehifa w1 e e Regea Fard 2
D &), 3mx. amsfrer

2) Trew

3) 3rsTEA fehet
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4) gfoTeRT

Ques # :113

Who has given the concept of Nuclear Family ?
1) Murdock

2) Zimmerman

3) Warner

4) Johnson

He IRAR $ srqemvon e 2
D et

2) fSeRAT

3) areit

4) StergeT

Ques # :114

" Sociology is regarded neither as the mistress nor as the husband of the social sciences but as their sister ",
Whose words are these ?

1) Light and Keller
2) B. Bhushan

3) Auguste Comte

4) Barnes and Becker

" FATSTATE e WIATII faaATell i of At JeEariaret ¢ 3T T & Jo7ehr arell &, TG IThr TgaT &

3) sprea wig
1) g1 Td

Ques # :115

Who considers that , "' Behavior, then, is to a large extent cultural , but it is not culture' ?
1) Johnson

2) Linton

3) Herskovits

4) Tylor

Ig FITAAATE ST, " Wa@ﬁﬁa@ﬁ?m%mwaq#m#wﬁaﬁ% ?
D) Steraet

2) Sesy

3) g¥eifacH

4) TRIeR

Ques # :116

Who has argued that, " Conflict may lead to impasse not to change. " ?
1) Cohen

2) Marx

3) Coser

4) Darwin
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D st
2) s
3) ST
4) =(fSey

Ques # :117

Who has argued, " We may fill a glass with wine, water or sugar without changing its form but I can not
conceive of a social institution whose form would not change when its members (change) . "

1) Sorokin

2) Max Weber
3) Vonwiese
4) Vier kandt

7E FE FETE, " 7 UF T Y 36F aaer R R, Il AT R A R AFA Y, e A v
THY AT TEAT Y Foaar ) AE T THdT STTHT TT0T TEEAT & dgolat Wi T agel " 2

D) ariferer

2) g Ao

3) aAaST

1) e

Ques # :118

" Marriage is an institution for admitting man and woman to life", whose words are these ?
1) Wester mark

2) Kapadia

3) P.N. Prabhu

4) Bogardus

" fyarg w3 o9 F IRaR shaer & yder Feae Hravar -, 75 Fa Fa1d 2
D) deex &

2) sarfear

3) oY, ueT. w3y

4) SrmEE

Ques # :119

Which of the following difference is wrong :

1) Culture is borrowed without change or loss but not civilization
2) Civilization is passed on without effort but not culture

3) Civilization is always progressing but not culture

4) Civilization has precise standard of measure but not culture

Crok kg K ok G

D) wEpfay e afacist & 60T i ST el § TRe] T3IT 18T
2) AT 3T § FEAAR &Y Hehell § HER I 76T

3) geran # faR worfa el & weaphar # =7

4) FEIAT T B AT HHA § TEPIel T AL
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Ques # :120

" Wherever there is life, there is society', whose words are these ?
1) Marx

2) Maciver and Page

3) Weber

4) Johnson

" Sgl Fgt N Shaar &, qei waATaT 8 ", P a1 2
1 s

2) HPTaR UF O

3) qs%

4) SArTET

Ques # :121

Who propounded the socialization theory of " social looking glass self " ?
1) Colley

2) Durkheim

3) Mead

4) Piajet

" FATST GUOT T " HT AT HIT 1 RAGIT st afaarfea fmar 2
D) o

2)%@‘h¢

3) A=

4 e

Ques # :122

By which concept the logical behavior is explained in Freud's theory of socialization ?
1)Id

2) Ego

3) Super Ego

4) None of these

WIS & AT AT & RAgia & difhs TR A Arear A s@uRom T Hrag g 2
sz

2) &air (3769

3) R S (g )

Y T A S T8

Ques # :123

Who defined social norms as the folkways of society ?
1) Durkheim

2) Radclift-Brown

3) Sumner

4) Linton

ATHATINS AT Y fFasr AT H AFOfaA & T 7 aRenfa Farg 2

1) g&ﬂﬂ
2) EiFaw-sET
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3) gEee
) fofeet

Ques # :124

In which form of social norms its non-conformity is considered as taboo ?
1) Folkways

2) Mores

3) Etiquette

4) Tradition

T YR & ATHATTSS ATAGUS! # 3AFT 36 U fAver g 2
D) sredifaat

2) SepraR

3) frserar

4) qERT

Ques # :125

Who formulated the functionalist theory of social stratification for the first time ?
1) Parsons

2) Davis and Moore

3) Warner

4) Tumin

ATATISIE FAUHIOT & YhrIaralr fAgid T 9ge! a1¢ et fwaor f&Fam 2
D) are=w

2) sfamua oy

3) A

4 e

Ques # :126

The book " Social Stratification : The forms and functions of inequality " is authored by
1) Tumin

2) Weber

3) Parsons

4) Young

" FYRTeT FEETBIHA : &) Bl TUS HFlerH AT FAsFAfAe! " Gl & oW ¢ ?
D cafee

2) qex

3) aEew

4) gar

Ques # :127

In class stratification which class is generally non-cohesive :
1) Elite Class

2) Upper Class

3) Middle Class

4) Lower Class
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o Ferdianeor # i 93 FTAIT gHeTSd AL § 2
D) 31fersret

2) 3 gat

3) ez qat

4) foet g

Ques # :128

Which one of the following is an example of wealth promised to the bride by the bridegroom ?
1) Dowry

2) Stridhan

3) Mehar

4) Bride Price

frrafafaa & & siawr e, a0 garT 3y F FFfa & & TS F3GEROTE ?
D asr

2) Ehee

3) A<

4) qY Yeh

Ques # :129

Communalism is the result of -
1) Individual Disorganization
2) Family Disorganization

3) Social Disorganization

4) All of these

ATFTETTAFHAT IROTH & -
D) Sifede fages

2) gitares faees

3) grerfores fwes

1) s & T

Ques # :130

Which condition exists before there appears accommodation process ?
1) Co-operation

2) Conflict

3) Adaptation

4) Assimilation

STEATY 9fHT & afed @ & 9 Fler d aRFEUfY g e d 2
) g

2) gers

) s

4) TcAATCHIRT

Ques # :131
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In the base of all social processes there is a pattern of ?
1) Action
2) Interaction
3) Reaction
4) Response

it arfare afhansit & 3muR # Aeafafad #1ve A glarg 2
1) fyra

2) 3iq: T

3) wfafsrar

4)@

Ques # :132

The emergence of ' Marginal Man " in society is the consequence of which social process ?
1) Accommodation

2) Assimilation

3) Conflict

4) Adaption

fFa FrTfore 9fshar & TR Taeg TATS & " AT ATg " SHIATR 2
D) eqaeam=

2) TcHHATCHRO]

3) ger$

RECS TR

Ques # :133

Which three categories of culture are mentioned by Sorokin in his cyclical theory of social change ?
1) Primitive , Traditional and Modern

2) Ideational, Sensate and Idealistic

3) Ideational, Modern and Post Modern

4) Primitive, Technological and Urban

FrATfo aRader & wshrr Rgra F @RfF F gann e fier aepfa it A0 w a2
D) snfea, oiorrera wa amefas

2) 3rreeiicHes, YeTlic Ud HTeTarer

3) JreRlicash, e Ud 3ec e

4) 3nfeA, derfaehr va ol

Ques # :134

Durkheim mentioned that the prototype of religion is -
1) Totem

2) Clan

3) Symbol

4) Worship of Idol

glfor o warma o et v IMREEET E -
D eresm
2) FeIreT
3) yfirem
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Y et oo

Ques # :135

Herbert Spencer was born in -
1) America

2) France

3) England

4) Germany

ﬁi@mmmaﬁﬁgmm?
D srafer

2) wig

3) god¥s

4 ST

Ques # :136

which is not the feature of Bureaucracy ?
1) Personalized rules of working

2) Hierarchy of positions

3) Avenues of promotions

4) Salary payments

ST U FHITHT A&TUT A1HIATET T G & 2
D &1 & Sufeas Hga

2) &t &1 ygaTe

3) QrARI & 3ETE

4) qaT sqaraTe

Ques # :137

Which factor helps in promoting the unity in Indian society ?
1) National Symbols

2) Education System

3) Legal System

4) All of these

AT HHATST & Thdl $) 9¢1aT & A FITHT FRF HEGIR & 2
D e yefen

2) fRrefor sggEAT

3) deznfore caawar

4) g adr g

Ques # :138

In which stage of Ashrama , all the purusharths of dharma, artha, kaam and moksha are fulfilled ?
1) Brahmcharya

2) Grihasta

3) Vanaprastha

4) Sanyas

AT Y Fore 3raeyT 7 o, I, FT T Aet F welt gewrd greq R S d 2
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Ques # :139

Who propounded the concept of Syndicated Hinduism in modern India ?
1) Yogendra Singh

2) Romila Thapar

3) S.C. Dube

4) A.R. Desai

aryfas s # RARFEs Reqees (Hinduism) HT 3raerom w1 gfaares fraa fFar 2
D o R

2) Qffrer ara)

3 g, A g

1) T 3R A

Ques # :140

The Varna system of India during the post vedic period was based on ?
1) Birth root

2) Quality and actions

3) Occupational Identity

4) Traditional Determination

IcaT AfeTF Frer & AR T ot STaEAT FT 3TUR 1.2
1) St a7

2) aor a5

3) =eraT g

4) ToRTeTd fefRorT

Ques # :141

The book " Caste in Contemporary India (2014 ) " is written by ?
1) Manish Thakur

2) Rani mehta

3) S.S. Jodhka

4) Anjali Dave

" HTEC FoT HEFRATSMBAT(2014) " TEAF F AGF ¢ :
l)gq‘—rﬁ-qasw

2) 1A Agar

3) vH. vH. S

4) 3ister &g

Ques # :142

Who was the first sociologist to explain the difference of culture and civilization -
1) Alfred Weber
2) Maciver and Page
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3) Ogburn
4) Leslie

T AR TEHTA & ey AT FA arell H FATYH FATSIATREHT FieT o7 2
D) weths R

2) HPTEaR UF O

3) sifareret

4) e

Ques # :143

The book " The Great Indian Middle Class " is authored by ?
1) Andre Beteille

2) PK. Verma

3) B.B. Mishra

4) I.P. Modi

" i I 3Raer FAfRRe Farw " fFw dwe g@rr ford 18 qraw 8 2
D 3t aas

2) i, qAT

3) v s

4) 3.y, Ar

Ques # :144

Role of woman is determined by ?
1) Manish Thakur

2) Sex-difference

3) Gender Difference

4) Woman herself

wfgeI AT s7fArewT T forerTvoT frerds garT frar ST 2
D e
2) foiaT feetare

Ques # :145

Which is not related to woman's role determined by gender inequality ?
1) Teaching

2) Cooking

3) House Cleaning

4) Sweatering

feremegarer frwarem & freiRe aifeer sifaeT & Rrwer areear e 8 2
D) sreamger

2) $9YSTeT eI

3) &R & FTS

4) RS
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Ques # :146

When was the Woman's Policy formulated to empower woman in India ?
1) 1996
2) 2001
3) 2008
4) 2013

HRT A ATFATIN FT FAFT T ¢ Ao Af Fa Fordi a1$ 2
1) 1996
2) 2001
3) 2008
4) 2013

Ques # :147

The untouchable castes in India were given a new name scheduled castes by
1) Mahatma Gandhi

2) B.R. Ambedkar

3) Simon Commission

4) Jawaharlal Nehru

HIT W 3rEqed Sfaal Y iR snfast 1«73 an e garr = = 2
D) sgrear aifeh

2) .31 3FIsHT

3) AreHT FARA

4) STaTe STl AET

Ques # :148

Who gave the concept of the " culture of poverty ".?
1) Marx

2) Dandekar and Ruth

3) Levis

4) Mayer

TR Y HEFTRY " Y HTUROT T ForwTOT et Rt 2
1) A7

2) ST Ud Y

3) o

4) 7t

Ques # :149

Which of the following sociologist explained six dimensions of communalism ?
1) T.K. Ooman

2) S.C. Dubey

3) PN. Prabhu

4) P.N. Mukerjee

Ao @d 7 8 5T FATSTAE & GFISdIE & 6 3TATAT T 3edd fhaTg 2
D& & 37
DR A -t

3) gy o, el
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Ques # :150

The " differential association theory " of crime is propounded by -
1) Cloward and Ohlein

2) Cohen

3) Sutherland

4) Becker

YT & et Fgud fRgia @EhRsre vafAvers Rga) #1 Awaor fFas frarar 2
1) Feiars wa ngfosT

2) Pt

3) gexdls

4) 3T
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